Linear regression Retake

Thursday
Task 1 Task 2 Task 3 Task 4 SUM

Initials a(15p) b(5p) c(5p) d(5p) a(5p) b(5p) c(4p) d(3p) e(4p) a(4p) b(4p) c(8p) d(6p) e(10p) a(4p) b(4p) c(5p) d(4p) 100p
1IKI 8 3 2 3 5 4 2 0 4 4 3 1 1 1 3 3 2 52
2 MK 6 0 0 0 3 2 p 2 1 4 3 6 0 7 4 4 5 3.5| 52,5
3 MM 12 2 5 0 5 4 2.5 1 4 3.5 6 2 2 0 3 3 3 61
4 DS 5 2 3 5 4.5 4.5 4 3 4 4 2 8 5 3 4 4 4 3 72
5MS 4 2 0 0 5 2 2 1 1 4 4 0 4 1 3 3 4 3 43
6 ZT 9 2 3 0 5 3 4 2 0.5 4 4 6 1 0.5 4 3 4 3

For successful completion of the test at least 55 points are needed.
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